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is constant.

Problem: The dimensions of AC beam are shown. El

Also,at x; = 3m, v; = 0. Then, Eq. (4) gives
. 20 .3 cfa2 " .
EI0) = - ?(3' 1-15(3)+ C5(3) + Cy

3Cs+ Cy=315

)

40kN
a) Determine the slope at A point,
A B C
b) Determine the deflection at C point. l
=0
‘ 30 kN-m
I 6m i 3m |
40 kN d dvy
Atx;=6m and x; = 3m, d—vl = —d—".'l‘hen Eq. (1) and (3) gives
X X2
I M) Mo Vew | odn
| -2—5(63) +150 = -20(3%) - 30(3) + C3]
W 2
X, Vix,) X, C; = STOKN - m?
Z;LN oo Substitute the value of C; into Eq (5),
CHEM, =0;  M(x)+250=0  M(x)=(-25x)kN-m Cy = -1395kN - m’
And Substitute the value of C, into Eq. (1),
CHEM, =0;  —M(x;) — 401,30 =0 M(x2) = (~40x2-30) kN - m an _ 1 (_ AN 150) KN - m?
dx; El 6
2
£r? ~ = M(x) ALA, x; = 0.Thus,
dx*
For coordinate x;. _dn _ 150kN-m*
1 4= dx e = El Ans.
El dLV_} = (-25x,) kN -m Substitute the values of C; and C, into Eq. (2) and C; and C, into Eq (4),
dxi o .
d ! ( 25Jr"‘JrIS()J()kN m? Al
) v 25 " . N vi= -t 1 - ns.
Ffz: (—Exi-w—(_.])kl\]-m' (1) EF\ 6
25 vy = — (— ?x;— 15x57 + 570x2 — 1395) kN -m? Ans.
Elv = (_ 2l 4 Oy + Cg)kN - 2) EIA3
6 At C, x; = 0. Thus
For coordinate x,,
- N _ _I1395KN-m’ 1395kr~1-m—"l Ans.
o ' 2 |22=0 El = El 5
El —5 = (-40x2-30) kN - m
dx;”
L, dvs 2 n
El — = (-20x2" - 30x2 + C3) kN -m (3)
dx; 40 kN
, 20, ., i R
Elv,=|——x-15x"+ Caxz + Cy | kN - v’ (4)
2
At xy = (), vy = 0.Then, Eq (2) gives qmestv=-" Sen, )
25
EI0) = —?(0‘) +Ci(0)+ G G =0
) ) ] 30kN-m
Also,at x; = 6m, v; = 0.Then, Eq (2) gives PR 3m
EI(0) = —E(ﬁ-‘)ﬂ’; (6)+0 C;=150kN - m?
) =% ! T m 25kN 65 kN




